Hints and Selected Answers for Section 4 Exercises
1. 
a. 
Sum is 
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c.

Sum is 
[image: image3.wmf]1

5

5

2

+

+

x

x

, product is 
[image: image4.wmf]x

x

5

3

+

.
2.
a.


[image: image5.wmf]17

10

)

(

 

,

5

)

(

2

3

4

+

-

=

+

+

+

+

=

x

x

r

x

x

x

x

x

q

.

c.


[image: image6.wmf]2

)

(

 

,

6

5

5

)

(

2

4

+

=

+

+

=

x

x

r

x

x

x

x

q



e.
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3.
After stating the unity element for 
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 is commutative, choose two 
non-zero polynomials of arbitrary degree in 
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 and consider the leading coefficient of their product. What can this coefficient not be zero?

5.
There are 100 total polynomials, 25 of which are monic.


7.
There are 125 total polynomials, 31 of which are monic.

9.
Consider the non-zero constant polynomial 
[image: image11.wmf]c

x

f

=

)

(

 in 
[image: image12.wmf]]

[

x

R

 where 
[image: image13.wmf]R

c

Î

. Then by the division algorithm, we can say that

[image: image14.wmf])

(

)

(

1

x

r

c

x

q

+

=



Since 
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, what does this say about the degrees of 
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